Neka je data tabela Radnik(ID, ime, plata, datum, grad, oblast) kreirana slede¢im SQL skriptom:

create table Radnik(
ID int,

ime nvarchar (10),
plata int,

datum datetime,
grad nvarchar (10),
oblast char (1));

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (1, 'Janko', 40420, '02/01/94', 'Beograd', 'C');

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (2, 'Boban',14420, '01/02/95', 'Subotica','S");

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (3, 'Sandra’, 24020, '12/03/96', 'Nis', '1');

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (4, 'Lidija', 40620, '11/04/97', 'Beograd', 'C');

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (5, 'Darko', 80026, '10/05/98', 'Smederevo','C');

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (6, 'Dejan', 70060, '09/06/99', 'Nis', '1');

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (7, 'Ana',90620, '08/07/00', 'Beograd', 'C');

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (8, 'Sasa', 26020, '07/08/01', 'Kraljevo','Z');

insert into radnik (ID, ime, plata, datum, grad, oblast)
values (9, 'Marija', 60020, '06/09/02', 'Beograd', 'C');



